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i) General Awareness

Recently concluded Asian Para Games
2018 was held in

(A) Bali
(C) Jakarta

(B) Kualalumpur
(D) Singapore

2019 World Skills Competition will be
held in

(A) Japan
(C) China

(B) Russia
(D) South Korea

Human Capital index (HCI) is
released by

(A) Worid Bank
(C) WHO

(B) IMF
(D) FAO

India’s position in the rank list of recently
released Ease of Doing Business
(EDB) is
(A) 67
(C) 77

(B) 68
(D) 78

Recently Govt. of India taken over a
project “Strategic Petroleum Reserve
(SPR)” in different locations of India for
war time mgt. of crude oil, which of the
following is not included in that list ?
(A) Chandikhol in Odisha

(B) Padur in Karnataka

(C) Vishakapatnam

(D) Pune

Which of the following institutions
recently released “cVIGIL” app for
complaint registration ?

(A) Central Vigilance Commission of
India

(B) Election Commission of India
RBI
CBl

7.

10.

The second edition of Exercise Aviaindra,
a Biennial Air Force level exercise , held
between India and ?

(A) Canada (B) USA
(C) Japan (D) Russia

SWAS, SAFAL and STAR are recently
in news, they are

(A) Newly Developed Unmanned Aerial
Drones by DRDO

Newly Developed Environmentally
Friendly Green Crackers by CSIR
Nano Satellites Developed by
ISRO

Micro Finance Products for Self
Help Groups by NABARD

(B)
(C)

(D)

Recently two cyclones affected East
and West coast of India, choose the
right option from the given below :

1. Titli cyclone affected East Coast of
India.

2. Luban cyclone affected West Coast
of India.

Only 1 is correct

Only 2 is correct

Both 1 and 2 are correct
None of the above

(A)
(B)
(©)
(D)

Recently Govt. of India initiated Kisan
Sampada Yojana (KSY), itis a
scheme for

(A) Attaining 2" green revolution

(B) Doubling farmers income by 2022
(C) Agro-Marine Processing and
Development of Agro-Processing
Clusters

Improvising Minimum Support
Price (MSP)

(D)
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11.

12.
13.

14.

15.

In 2017-Oct., P.M. Modi inaugurated
“Ro-Ro” service between Ghogha and
Dahej in Gujarat . In 2018-Oct.,recently
‘Ro-Pax’ ship between the same places
was inaugurated. What is the utility of
this ship and this project ?

(A) ltis an inland waterway service
(B) A Ro-Pax ship carries only
passengers and vehicles but not
cargo containers

Both A) and B

Neither A) nor B)

(C)
(D)

India International Science Festival
(IISF) 2018 recently held at

(A) Delhi (B) Allahabad
(C) Patna (D) Lucknow

Chairman of 15" Finance Commission
of India is

(A) Urjit Patel
(C) Y.V.Reddy

(B) Arun Jaitley
(D) N.K. Singh

Consider the following statements about
Jain traditions and choose the right
option.

(A) Mahavir gave special importance
to “Aparigraha”

Vishwashanti Ahimsa Sammelan
recently held at Nasik

Both are right

None

(B)

(C)
(D)
Recently Prime Minister launched “Main

Nahin Hum Portal & App”, which of the

following is the main aim of this App ?

(A) To provide free legal services for
sexual harassment victims

It will enable IT professionals and
organizations to bring together their
efforts towards social causes, and
service to society, on one platform
Both are right

None

(B)

(C)
(D)

16.

17.

18.

19.

20.
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2018 Seoul Peace Prize is conferred on
(A) Sushma Swaraj

(B) Narendra Modi

(C) Kailash Satyarthi

(D) Atal Bihari Vajapayee

Which of the following is true about
Electoral Bonds of India ?

(A) It shall be encashed by member
of Parliament only

It shall be encashed by an eligible
political party only

Both are right

Both are wrong

Which of the following Biosphere
Reserves of India recently has become
the 11t Biosphere Reserve from India
that has been included in the UNESCO
designated World Network of Biosphere
Reserves (WNBR) ?

(A) Sundarban
(B) Pachmari Biosphere Reserve

(C) Khangchendzonga Biosphere
Reserve

(D) Agastyamala Biosphere Reserve

Who among the following is conducting
the National Eligibility cum Entrance
Test-NEET-2019 ?

(A) CBSE under HRD Ministry
(B) National Testing Agency (NTA)
(C) Medical Council of India

(D) National Board of Examinations
under the Health Ministry

What is the meaning of PM10 ?

(A) Particulate matter diameter having
size greater than 10 microns

(B)

Particulate matter diameter having
size of 10 microns
(C)

Particulate matter diameter having size
less than or equal to10 microns
Particulate matter diameter having
size less than 10 millimetres

(D)
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21.

22.

23.

24,

25.

In which of the following cities bench
of National Green Tribunal(NGT) is not
created ?

(A) Bangalore
(B) Chennai
(C) Delhi
(D) Bhopal

A two years ago Delhi Govt. introduced
Odd and Even Road Rationing Scheme
to reduce Air pollution in Delhi, consider
the following statements and choose the
right option.
1. India is the first in the world to
implement such rules.

2. Initially it was implemented for one
week.

Only statement 1 is correct
Only statement 2 is correct
1 and 2 both are correct
None of the above

A
B
C

' '

(
(
(
(

O

Density of population of Delhi as per
2011 census is approximately

(A) 9340 (B) 20300
(C) 11300 (D) 15300

Chief Minister of Delhi is appointed by
(A) Prime Minister

(B) Lieutenant Governor

(C) President

(D) Parliament

Who among the following topped in the
recently held Delhi Half Marathon in
men’s category ?

(A) Tsehay Gemechu

(B) Andamlak Belihu

(C) Avinash Sable

(D) Gopi Thonakal

26.

27.

28.

29.

30.

31.
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Current Chief Justice of Delhi High
Courtis

(A) Gita Mittal

(B) Rajendra Menon
(C) C. Hari Shankar
(D) None

Which of the following High Court
recently Decriminalized the Begging in
its constituency ?

(A) Allahabad
(C) Mumbai

(B) Delhi
(D) None

Recently India’s first National Police
Museum was opened in Delhi, it was
inaugurated by

(A) Narendra Modi
(B) Rajanath Singh
(C) Ramnath Kovind
(D) Arvind Kejrival

Which of the following cities became
the first city in India to roll out Bharat
-6-stage fuel norms in India ?

(A) Bangalore (B) Chandigarh
(C) Delhi (D) Kohima

Which of the following union territory
ranked as the most vulnerable to risk
under recently issued national disaster
risk index ?

(A) Lakshadweep
(B) Delhi

(C) Andaman Nicobar
(D) Pondicherry

The 52" Skoch Summit recently held in
(A) Madras (B) Ludhiana
(C) Ahmedabad (D) Delhi
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32.

33.

34.

35.

36.

37.

Which of the following state, recently
for the first time in India launched
‘Happiness Curriculum’ for primary
school students ?
(A) Delhi

(C) Bhopal

(B) Chandigarh
(D) Bhubaneswar

2019 Pravasi Bharathiya Divas will be
held in

(A) Delhi
(C) Allahabad

(B) Varanasi
(D) Lucknow

Which of the following institutes not

included in the institutions of eminence

list by HRD ministry government of

India ?

(A) Manipal Academy of Higher
Education

(B) JNU Institute Delhi

C) HT-Delhi

(D) Jio Institute by Reliance
Foundation

—_—

Theme of the recently held 10t edition
of Delhi Dialogue was

(A) Peaceful Asia for the World

(B) Strengthening India ~ASEAN
Maritime Co-operation

Sustaining Indo-Pacific Region
None of the above

(C)
(D)

Present Vice-Chairman of NITI Ayog is
(A) Amitabh Kant

(B) Bibek Debroy

(C) Raijiv Kumar

(D) Aravind Panagariya

Which of the following cities is Topped
in the State Investment Potential Index
(N-SIPI) report ?
(A) Gujarat
(C) Punjab

(B) Delhi
(D) Haryana

38.

39.

40.

41.
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The book ‘Train To Pakistan’, in which
partition of India is vividly brought out ,
is written by

(A) Dr. Manamohan Singh
(B) Pervez Musharraf
(C) Kuldip Nayar

(D) Khushwanth Singh

Mahatma Gandhi international Sanitation
Convention 2018 held in

(A) Dandi, Gujarat

(B) Wardha, Maharashtra
(C) Sabarmati, Gujarat
(D) Delhi

Consider the foliowing statements about
food processing sector in India.

1. Cent percent FDI is permitted
under the automatic route in food
processing industries manufacturing
sector.

2. Aerated water and soft drinks
are not part of the subjects under
ministry of food processing.

3. Beer and other alcoholic drinks
also form part of the subjects under
ministry of food processing.

Choose the correct option from the
above given statements.

(A) Only 1 is correct

(B) Only 1 and 3 are correct
(C) All are correct

(D) None of the above

Pradhan Mantri Yuva Yojana seeks to

(A) Promote entrepreneurship among
the youth

Engage -youth in scientific and
research activities

To encourage the youths to take up
government exams

None of the above

(B)
(C)

(D)
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2. Tl SEEHU] WG o Sientd argafed
ST 3R 9g 9 L ma |

3. IR 3R 31 ITehied g U Wi
THEHT WA o aTid 37 8

F few e et # W faswen i

(A) Had 198 2

(B) 133w &

C) whiad?

(D) 3 H A s T

TeTE AT AT 6 IR R

(A) areTi | Ifirar sl S

(B) JaraTi i IR 3 ST Hr
CASHIE

(C) I il TR wltarradt 2 ewriea
FET

(D) 3% 8§ @ Y e
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42.

43.

44.

45.

Resource efficiency programme falls under
which of the following organization ?

(A) UNEP
(B) WTO
(C) WORLD BANK
(D) UNFCC

Which of the following statements
given below are true regarding National
Adaptation Fund for climate change ?

(A) Itis a central sector scheme under
implementation in the 12! Five
Year Plan

SIDBI is the implementation entity
of this scheme

Option A) and B) both are correct
None of the above

(B)

(C)
(D)

Kendriya Hindi Samiti to probe the

use of Hindi as an official language is

chaired by

(A) President of Sahitya Academy

(B) Special officer for linguistic
minorities

(C) Prime Minister

(D) Minister of MHRD

Consider the following statements about
village resource centers.

1. Part of the Gram Panchayaths to
map the resource of the village.

2. Set up by the ministry of rural
development for the development
of remote villages.

3. Setup by ISRO in selected villages
in association with selected NGOs,
Trusts and State Government
departments to meet the needs of
people using satellite data.

Choose the correct option from the
above given statements.

(A) Only 3 is correct

(B) Only 1 and 2 are correct

(C) Al are correct
(

D) None of the above
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LAMITYE is a joint military exercise of
Indian army, focused on anti piracy,
anti narcotic and counter terrorism.
With which of the following country it is
conducted ?
(A) Dijibouti
(C) Yemen

(B) Seychelles
(D) Saudi Arabia

The regional channels of All India Radio
(AIR) is currently mostly aired through

(A) Medium wave
(B) Long wave
(C) Short wave
(D) Both A) and B)

14 points strategy is related to
(A) Welfare of minorities

(B) Tackle terrorism

(C) Tackle Naxalism

(D) Undertake environmental
protection

Which of the following missiles will be
developed under Integrated Guided
Missile Development Plan ?

1. Barak 2. Akash
3. Trishul 4. Astra
Select the right option.

(A) 1and?2

(B) 2and 3

(C) All of the above
(D) None of the above

Which one of the following is the oldest
department of the government of India
which was set up in the year 1767 ?

(A) Indian Railways

(B) Ordinance Factory Board
(C) Survey of India

(D) None of the above



42.

43.

44,

45.

T gaa hriwd fefoiag o @ frg
LT & AN A E 7

(A) UNEP

(B) WTO

(C) WORLD BANK

(D) UNFCC

e gfer ¥ T STt R ¥ ey

A fiifaa T - R ?

(A) I8 12 off uadia Qe § st
& ST g Y AT R

(B) SIDBI 39 ISHT Y sHrgt-aoH
T}

(C) fapea A) 3t B) A wt &

(D) 3 4@ =3 A

Tt =1 e & v B T AR ¥ R

St sl T aftfa o st 2

(A) WIS TehTeH ot 3reas

(B) TTNTS 3TcqETHeh! o a9y 1framrtt

(C) wurw=

(D) THUIARE &1 T

TTH GETEH gl o gay 3§ frafaias semt

T fEm |

1. TTH o GETEHT 1 TR SR ¥ T
YT 1 W

2. T UMl % foemm 3g Imfiv ferer
AT <l STy

3. WU HAihsl & WA FAT A A
HEIHATY g FW ’G Y4 T
.57, TR IR U SR %
%wrrhésmarqﬁmrna’fﬁ ISRO
BT e

SR fig e werl # w forsred gfi -

(A) Faa 3T

(B) Fawt 1 3R 2adt &

C) whudd

(D) 3% H @ IS T
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LAMITYE St wiefisr &1 Ot qreedl, ot

Arehifeen 3R tTeaRaTa o fore o Shiga agTa
ITE ﬁm%m%ﬁm%mw?

(A) Toreeht (B) dcw

(C) I (D) U<l W
e 3fean AN (AIR) 1 TeRes e
AfrerTeTa: & HTEIH § A
ST B

(A) T==H qaT

(B) aﬁa@n

(C) g at ,

(D) A) 3R B) 31

14 3791 WY T TEiYE ?)

(A) STCIGET! T Fe0
(B) 3TTGHATE T T
(C) HEAATE ! GHTEHT
D) wafaRureh TaM et

Thigd Arfelia feda fawm e &
srava Fafafigs @ @ s-d fieda
forenfYa < s ?
1. 9N

3. P

HEl foreed g |

(A) 132

B) 23R 3

(C) I unft

(D) I | @ IS &

frafafa o @ s-a1 1767 o Tonfia
ARE TR &1 Srhas famr & 2

(A) YRAT W&

B) & ¥t &g

(C) W Taeor

(D) I H A IS

2. AT
4. I3
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ii) General Intelligence and Reasoning Ability

If A is substituted by 4, B by 3, C by 2,
D by 4, E by 3, F by 2 and so on then
what will be the total of numerical values
of the letters of the word SICK ?

(A 11

(B) 12
(C) 10
(D) 9

A two digit number is increased by 20%
when its digits are reversed. Then the
sum of the digits of the number is

(A) 2 (B) 7

(C) 9 (D) 8

‘E’ is the son of ‘A’, ‘D’ is the son of
‘B’, ‘E’ is marrried to ‘C’ and ‘C’ is the
daughter of ‘B’. How is ‘D’ related to ‘E’ ?
(A) brother

(B) uncle

(C) father-in-law

(D) brother-in-law

15+3=16,7+3=40then9+3 =
(A) 70
(B) 72
(C) 75
(D) 80

In a bowl, the number of marbles gets
doubled after every minute. If the bowil
gets filled after two hours of such a
process, how long do you think it will
take for it to be half filled ?

(A) one hour

(B) one hour 59 minutes

(C) 59 minutes

(D) none of these

-14-
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57.

58.

59.

It's dark. You have ten blue socks and
ten grey socks and need to put them
in to pairs. All socks are exactly the
same except for their colour. How many
socks would you need to take with you

to ensure you had atleast a pair ?
(A) 3

(B) 16

(C) 8

(D) none of these

If the minute hand of a clock advances
at the rate of 9° per minute, how many
minutes does the clock gain in half
hour ?

(A) 20 mins.

(B) 12%2 mins.

(C) 15 mins.

(D) none of these

If ‘A x B’ means ‘A is mother of B’
‘A — B’ means ‘A is brother of B’
‘A + B’ means ‘A is sister of B’

‘A + B’ means ‘A is father of B’

Then which of the following means
‘R is maternal uncle of T' ?

(A) R+MxT

(B) R—-MxT

(C) Tx M—R

D) T+M=R

Find the wrong number in the sequence
3,4,7,17,33, 58, 94.

(A) 4

B) 7

C) 17

(D) 33
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ii) A glgun awn aifden argan

afe A &t 4 @ vigeafua foran s, B =Y
3,CHI2,DH 4, ER 3, Fahl 23
w&gﬂl&.uﬂm_oxwﬂﬁm&%

FAFTOTAT HT T 21T 2

(A) 11

(B) 12

(C) 10

(D) 9

Teh 31 ekl shl G&AT 20% & STt & I

37eh1 o1 SFH T faT ST | | Eeeat o 3iehi

FATR
(A) 2 (B) 7
C) 9 (D) 8

E,ANFER, D, B H R, E W
e Ccagmesi e, BRATHT
‘D, ‘E’ 4 fore v weftia 2 2

(A) w3

(B) ==

(C) |

(D) =&

I 5+3=16,7+3=407,9+3 =
(A) 70
(B) 72
(C) 75
(D) 80

T Fer H, MicEl h gea @ fime |-

A B St @ | 3wt whean % @ ue
T8 AU YU W ST &, a0 i |
fopan ww @m g ?

(A) 1921

(B) 1% 59 fime
(C) 59 fime

(D) ¥ ¥ g T
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56.

57.

58.

59.

3TeT B | 31Uk UTE 10 i 3 10 W
o & 3 AR 3 e o9 & | g+t
S 39 1 & Afafed gaon 99 2|
3T U HH § Y T Sgl & I8 gfwm
FA % T IRl =gHaw fohaa Hist 3t
g1y o g 7

(A) 3

(B) 16

(C) 8

(D) 378 @ 1S e

Ifs v St it e areft g8 wha e 9°
H W A dgdt ], O 3y W § g
ferem firte st gt ?

(A) 20 fame

(B) 12 firme

(C) 15 iz

(D) 3 T 1S e

i ‘A x B &1 R ‘A, BRI AT ¥
‘A-BH IAFRA BRI AE R
‘A + B 1 314 & ‘A, B I TEA &
‘A-BHILTABH A

A Feaffga i o e s em e R, T
I HET ?

(A) R+MxT

(B) R-MxT
(C) Tx M=R

D) T+M=R

G ¥ TeAd T T |
3,4,7,17, 33, 58, 94.
(A) 4

B) 7

(C) 17

(D) 33
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63.

Choose the right option for x in the
matrix.

11120 1 |100
813|556
715 |16} x
(A) 28
(B) 27
(c) 21
(D) 29

Which number is on the face opposite
to 27

5 persons A, B, C, D and E are
sitting together. ‘A’ speaks Tamil and
Kannada, ‘B’ speaks Gujarathi, Hindi
and English, ‘C’ speaks Kannada only,
‘D’ speaks Tamil, Hindi and English, ‘E’
speaks Gujarathi and Kannada. Then
who cannot speak to whom without
the help of interpreter among the given
options ?
(A) A C
(C) D,B

(B) A E
(D) B,C

When 6 apples were distributed to
each member of a group, 1 apple was
left, when each person was given 7
apples, 1 person did not get any. Find
the number of people in the group.

(A) 15 (B) 8

(C) 48 (D) 10
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A man is 18x years old and hig son is
2x2 years old and when he was 3x?
years old his son was x + 4 years old.
How old was he 5 years from now ?

(A) 68 yrs.
(B) 72 yrs.
(C) 67 yrs.
(D) 69 yrs.

Let x, y and z be positive integers
satisfyingx<y<zandx+y+z=k.
What is the smallest value of k that does
not determine x, y, z uniquely ?

(A) 9

(B)
(C)
(D)

o N O

In a tourist group, 100 go to Delhi, 70 to
Varanasi and 50 to Nepal. Only 20 go to
Nepal, only 30 to Varanasi, 10 to Nepal
and Varanasi only and 5 go to all 3 places.
How many went to Delhi only ?

(A) 60

(B) 65

(C) 55

(D) 75

Mr. X went to market to buy bananas.
If he can bargain and reduce the price
per dozen by Rs. 2, he can buy 3 dozens
instead of 2 dozens with the money
he has. How much money does he
have ?

(A) Rs.6

(B) Rs.12

(C) Rs. 18

(D) Rs. 24



61.

62.

63.

60.

x ¥q 3Tegg # w farered g
11|20 1 [100
8135156
715 |16] x

(A) 28

(B) 27

) 21

(D) 29

2 % fadiq weteh W -t GeT & 2

5 3 2 4
3 1 3 6
1 6 6 1
(A) 6 (B) 5
(C) 1 (D) 4

A, B, C, D 3R E Uig SAf T A S8 | ‘A’
e R Fae e B, ‘B IS,
IR ST Sia B, ‘C’ helel g Sied!
? | ‘D afte, fe=ht 3 omishi S #
‘B TS 3R e sierar B | 1 g g
forepet 4 & 1 forash Ty form g &
T & T 7
(A) A, C

(C) D, B

(B) A E
(D) B, C

e 6 Vel T THE o Tedeh Gaey & 9f2 o
2, A 1 99 59 ST ], S Yol =3t ohi
7 3 feg vma 2, @ 1 = A 3o T

 Foretan | T W wewi i wEn @ R

(A) 15
(C) 48

(B) 8
(D) 10
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T SAfFT 18x T oI 3 3TH! TF 2x2 T4
T 7, & 98 3x2 q¥ H1 AT A ITH TF
X+ 439 HI AT | TG AN W 598 g foramt
Y 1 o7 ?
(A) 6899
(B) 7298
(C) 67 a4
(D) 694

Wﬂli\GQx,yiiﬁIz,x<y<23ﬂI
x+y+z=kHﬁF’r§Q‘°F{ﬁa1éW?=ﬁ

‘Eﬁ?%l kwﬂlﬂﬁﬂm?ﬂl%,%ﬁx, Yy, 2
=t feeta w9 & Faiia T wwdt ? |

(A) 9
(B) 6
(C) 7
(D) 8

& yaret g 7100 feecht s €, 70
FEOTE 3 50 FUTA ATd ) hae 20
IUTA 1A &, e 30 TR, 10 AT
S ROt g9 5 et i S W S
2| foraa et feeeft ™ 7

(A) 60

(B) 65

(C) 55

(D) 75

sft X Fet @lier IR MUy IR S AevE
T e I 2 &, Ufd 5 6 KT A 8
@S 2 TSI Sl T 3 T el @iiE FehRd
TITha foramem & 7

(A) &6

(B) & 12
(C) %. 18
(D) ®.24
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69.
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71.
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Mr. A is 250 days older than Ms. B and
Ms. C is 50 weeks older than Mr. A. If
Ms. C is born on Monday, on which day
Ms. B was born ?

(A) Saturday
(B) Friday

(C) Thursday
(D) Wednesday

Amit spends Rs. 100 on articles worth
Rs. 1 each, Rs. 2 each, Rs. 3 each and
Rs. 5 each. If he buys 42 articles, how
many Rs. 3 articles has Amit bought ?

(A) 13 (B) 14
(C) 130r14 (D) 12

A chain is made up of 5 links. Minimum
number of links to be broken to have all
links separate is

(A) 2

(B) 3

(C€) 1

(D) 5

If m < nwhere m and n are real numbers
then which of the following is definitely
true ?

(A) m?<n?
(C) m<n?

(B) m?>n?
(D) m3<nd

Latha has same number of sisters as
she has brothers, but her brother Lava
has twice as many sisters as she has
brothers. How many children are there
in the family ?
(A) 7

(C) 5

(B) 6
(D) 4
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The zoo had some lions and some
parrots. The keeper counted 15 heads
and 50 legs, then the number of
lions is
(A) 9
(c) 1

(B) 10
(D) 12

A started a business with a capital of
Rs. 2,100. After 4 months he admitted
another partner B. What amount should
B put in so that the profit may be divided
equally at the end of the year ?

(A) Rs. 3,000

(B) Rs. 4,120

(C) Rs. 3,150

(D) Rs. 3,600

For a leap year starting on Wednesday,
the number of Tuesday, Wednesday
and Thursdays will be respectively

(A) 52,52,52 (B) 52, 53,52
(C) 53,53,53 (D) 52,53, 53
Xy

If x is odd, y is even and X—y is a
positive integer then XY s

(A) even -

(B) odd

€ 0

(D) depends on value of x and y

A, B, C are libraries. B has half as
many books more than A and C has
210 books more than B. The total
number of books in the libraries can't be
equal to

(A) 1,886

(B) 2,164

(C) 1,922

(D) 17,438
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69.

70.
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72.

afe =t Agsft B ¥ 250 fo7 3l geft C =ht
AR 50 gTE 7€t & AR Poft C Wiwan
=l 5=t 8 @ gaft B o 5 forwr fom gem 7
(A) wifFaR

(B) AN

(C) Tewicar

(D) gosr

AWT1%., 2%., 3%., 3N 5%, T qre
FE T 100%. T FAT R | i a8 42357
Gliedl 8, a1 364 3 %. arelt e aggqd
T{id ?

(A) 13 (B) 14

(C) 134114 (D) 12

T SR 5 el & 5+ § | wft il
AT T o T 0 @ n forea st 1
qeTe ?

(A) 2

(B) 3

(C) 1

(D) 5
Uﬁm<n3ﬁm3ﬁ1naﬂﬁﬁﬂ?m§%
dAFH-T FAfcasrd o R 2

(A) m2<n2 (B) m2>n?

(C) m<n? (D) m3<n3

a1 h 3o & e § , R o € (g
3Ieh VTS 919 Y TEA1 ) T o % TS
! T A AFH § | IRar i fra s € ?
(A) 7 (B) 6

(C) 5 (D) 4
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i gs Ml gsad € |
1w 3 15 IR o 50 e i), s A
T et 8 7
(A) 9
(C) 11

(B) 10
(D) 12

ATE. 2,100 31 GSft o BT Toh HRIGR &
fora 1 4w o1 3EA W wifier B wfte
foran | B forait wfsr s for awta & gam

<y St faafa 8 ?

(A) Rs. 3,000

(B) Rs. 4,120

. (C) Rs. 3,150

(D) Rs. 3,600

AR 3T BHATC U et & o, i,
FUIRI 2T TEIRI I T FA: B

(A) 52,52,52  (B) 52,53, 52
(C) 53,53,53 (D) 52, 53,53

Atk x forwm 2, y wm & ok ;("_—Vy
mwﬁ%%,a‘fx"—}'y%

(A) @H

(B) ferem

(C) O

(D) x 3R y & Yo T feft e B

A, B, C Y&I&EE 8 | BH A @ ameft gk
Ffts 3 3 C & B/ 210 Tk 31tk
T | TehTergl O YAkl <l BT

& S A2 B Hehelt |

(A) 1,886

(B) 2,164

(C) 1,922

(D) 17,438
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79.

80.

81.

The entries given in the squares
indicate the entries on the face of the
cube. Study the diagram to answer the
guestion below it.

5|6
112
413

Find the number opposite to 2.
(A) 3 (B) 6
(C) 4 (D) none of these

In the following figures, numbers are
arranged according to some rule.
Identify the figure in which the rule is
not obeyed.

8 5]19 sl13/\ 6|9 /\14

168 288 360 530
a b c d
(A) a (B) b
(C) c (D) d

Complete the analogy.
ROAD : 221958 :: PRIME : ?
(A) 202212179

(B) 182213168

(C) 202213179

(D) 202112178

0O, P, Q, R, Sand T are six men sitting
on a bench but not in that order. S and R
have two men between them. There are
three men between P and T. O is to the
left of S. T is to the left of R and Q is not
on either extreme ends. Who are at the
extreme ends ?

(A) ST
(C) PR

(B) RS
(D) PO
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If a, b are two non-zero numbers and

ab

A and o are defined as aAb=—;

aob=a+b-ab.lfaAb=aobthen
which of the following is true ?

1 1 1 1 4
® —+-=2 ® E*B‘A

a
a+b_ ab _4
© S =°> © a+b_/3

In a test match Kumble took one wicket
more than Srinath who took one wicket
more than Harbhajan. If the product of
the number of wickets taken by the three
is 210. How many wickets did Kumble
take ?

(A) 5
(C) 7

(B) 6
(D) 8

A man is moving from Ato B.CD is a
pole between A and B which is of height
6 metres. He found the distance from
the top of the pole C to the points at A

and B as 10 metres and 2v/34 metres
respectively. Find distance between A
and B.

(A) 16
C) 6

(B) 18
(D) 4

Ms. Smitha started to move in the
direction of South. After moving 15 m
she turned to her left and moved 15 m.
Again she turned to her left and moved
15 m. Now, how far is she from her

starting point and in which direction ?
(A) 15 m North

(B) 15 m South

(C) 30 m East

(D) None of these
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78.

79.

80.

81.

=R H € TS gl o & Bodew w
g vfafeeat quridt §1 i few w7 1 s
27 Fferu few 7o g o A R |

5]6

12
3

4
2 o ool g 31 =

(A) 3 (B) 6

(C) 4 (D) 3% U YRS &
F=fafaa o d, geaet = w fam
% ITIER =afea foran T ® | 9% T

ggeT fore e o arerm =S R 2
8 /N\sllo /\sli3/ \s6lo/\14
168 288 360 530
a b c d
(A) a (B) b
(C) ¢ (D) d

TSI qUf i |

ROAD : 221958 :: PRIME : ?
(A) 202212179 (B) 182213168
(C) 202213179(D) 202112178

0,P,Q, R, S 3 T B: Afkd Tk 99 W
TR FAHANAE | SSMRF A=A
FfF eI PIRTH I w1 O,
S*daT? | T, R¥aiw? fiwQ foret oft
B AL 8| AT ST WA B R ?
(A) ST (B) RS

(C) PR (D) PO

82.

83.

84.

85.
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If% a, b q M-I F& 8 3R A 3N o

aAb=%9 caob=a+b-ab®h &9

dofyftad 1aRkaAb=aobda
HA-T TR ?

1 1

1.1 4

®) —+5=2 ® E*B‘/B
a+b ab

© % =S a+b—%
T 3w B9 § a1 ofg § & foee
it foan e sose 9 s fashe
atfers foran | afe =t gro fore g farenet
T UAG 210 B A Fae A T farshe
fere ?
(A) 5 (B) 6
C) 7 (D) 8

TF AR AT BH AT @R 1CD, A
F B & o= T @ @ fweh =g 61t
2immEd cHida A3l fagad
1 gt wwer: 10w, 3 24/34 . qrn
RIAMBFHTA T IA@R |

(A) 16 (B) 18
(C) 6 (D) 4
it Teiran afeqor it o =reT Ay Tt

2115 ). wIeM & 9., I8 aC et 7 oI
15 7. 9ot @ | 98 TH: 9 SC gedt
3 15 Y. =Tl § | 37 97 ST+ AR
T @ forat et form fem # 2 7
(A) 15Hl. IW

B) 15, gfam

(C) 307 gd

(D) T @ &g 7
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What will come in the place of question
mark ?

B2S, F6P, J14M, ?

(A) N30I (B) M241

(C) N30J (D) P24J
fP=6,J=4,L=28 M= 24 then
MxJdsL+d=

(A) 8 (B) 16

(C) 52 (D) O

In this question, there are 3 statements

followed by 4 conclusions. Read all
the conclusions and then ascertain
which of them in justified by the given
statements.
Statements : All mangoes are jackiruits.
All apples are mangoes.
Some oranges are
apples.
1. No orange is
mango.
2. All jackfruits are
apples.
3. Some oranges are
mangoes.
4. Some mangoes are
apples.
(A) All conclusions follow
(B) None conclusion follows
(C) Only 2, 3, 4 conclusions follow
(D) Only 3, 4 conclusions follow

Conclusions :

Prakash is heavier than Arun who
is lighter than Varun. Prabodh is
lighter than Prakash and heavier than
Varun. When they are arranged in the
decreasing order of their weights then
who will be on third place ?

(A) Arun (B) Prabodh
(C) Varun (D) Prakash
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In a line of students, Sanjay is on 101"
place from left and Amikar is on 15"
place from right. When they interchange
their positions then Sanjay is on 20t
place from left. What is the total number
of students in the line ?

(A) 35
(B) 34

(C) 3

(D) None of these

‘G’ is the son of ‘B'. ‘S’ is the daughter
of ‘G’. ‘C’ is the daughter of ‘D’ and ‘D’
is the brother of ‘B’. How is ‘C’ related
to ‘S’ ?

(A) Nephew

(B) Aunt

(C) Mother

(D) Cousin

If the third day of month is Monday, then
which day will be on 5™ day after 215t
of the month ?

(A) Tuesday
(B) Monday
(C) Wednesday
(D) Thursday

If paper is called lamp-black, lamp-black
is called powder, powder is called oil,
oil is called soap and soap is called salt
then what do the girls use to make their
eyes beautiful ?

(A) lamp-black

(B) salt

(C) powder

(D) oil
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87.
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TR o T 9T 9T BT 7
B2S, F6P, J14M, ?

(A) N301
(C) N30J

(B) M241
(D) P24

Gk P=6,J=4L=8 M=24q
MxJdzL+Jd=
(A) 8

(C) 52

(B) 16
(D) 0

T H 3T e 4 e § | et Frsamd
ufeu sik gifeea s fr sl @ -an
fau 7Tq oMt Y e @R |

wmyT:  off s wera |
gft de amm € |
FOTR AT |
1. FE AV AT T E |
2. afi g A9 § |
3. FB TR AW E |
4. TS AMASE |
(A) aft T wgee htan R
(B) i3 fosohd Tigee et e &
(C) ae 2, 3, 4 fishd Tgee a1 B
(D) ot 3, 4 Tk wse e &

et -

TR 3T | 9T ] ST 9607 A goont R |
TSI WIS ¥ Tkl I %0 & 9 ? | 9
370 3% W o 3YaIE! vH § afera R
ST 2, Y R S 9 SN B ?

(A) 3TEU (B) way

(C) ==m (D) S=hm1
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foranfefar it ue ufe & g @it @ 10
T W 8 R AR T d 153 TH W
B | 99 9 7Y § TAM & A & a1 o
I1C ¥ 20 d TIH W A1 a1 ® | ufaq A
ferenfdfant <t et we @

(A) 35
(B) 34
(C) 36
D) ¥ § Ig el

‘GBHEIR, SCRER, CD
FAERNID, B #IEL1'CSA
fra TR wefta 2 7

(A) s

(B) =meht

(C)

D) == Wi

IS w1 1 1o fo emar ], & = #i
21 IR & w1E Yian f&1 == g ?

(A) HTAIR

(B) HWER

(C) Fuar

(D) TeaR

IS TS ) FHISTeA, TSI hl YIS, TR
! 0, I I TG 3R AT ) T gl
ST iRt i@l hl el s o forg
FIT AN LAl & ?

(A) INA

(B) HH

(C) TR

(D) d
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95.

96.

In a 100 metres running race Mr. P
beats Mr. Q by 5.6 metres and Mr. Q
beats Mr.R by 1.25 metres, by what
distance P beats R ?

(A) 18.1 metres

(B) 17.4 metres

(C)

(D)

7.5 metres

None of these

if 6 chickens are worth 3 hens, 7 hens
are worth 4 geese and 5 geese are
worth 2 peacocks, find the price of 7
chickens if a peacock costs Rs. 20.

(A) Rs. 100
(B) Rs. 16
(C) Rs. 15
(D) Rs. 25

A couple gets dressed for a new
year party and takes a last look at
themselves in the mirror with the wife
standing to the right of the husband. For
a better look, each one moves at 90°
angle thrice with the lady moving in the
clockwise direction and the husband in
the anticlockwise direction. What are
their positions now with respect to each
other as reflected in the mirror ?

back to back
B) side by side
face to face

can’t be determined

97.

98.

99.

100.

-24-
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An elevator has the capacity of 12 adults
or 20 children. How many aduits can
board the elevator with 15 children ?
(A) 4

(B) 5

(C) 3
(D) 9

Anna and Bala were playing simple
puzzle game. Anna wrote a two-digit
number and asked Bala to guess it.
Anna also indicated that the number is
exactly thrice the product of its digits.
What was the number that Anna wrote ?
(A) 36
(B) 24
(C) 12
(D) 48

A monkey is climbing a tree. He climbs
normally10 steps per hour. When clock
strikes an odd hour he halves his speed.
If he started at 12.00 noon, how far does
he climb by 11.00 a.m. next day ?

(A) 175

(B) 285

(C) 295

(D) 185

There are 200 members in a club.
96 play Hockey, 90 play cricket and 104
baseball. 30 play hockey and cricket, 36
play hockey and baseball and 42 play
cricket and baseball. Each one plays
atleast one game. Number of players
who played all the 3 games are

(A) 6 (B) 18

(C) 54 (D) 36



94.

95.

96.

oM FH AN PfiQ=ise M. @
WA M Qoft Rt 1.25 1. A &
HE LE R btk k

(A) 18.1 HiX

(B) 17.4 X

(C) 7.5HIX

(D) T &+ T

afs 6 I3 1 qea 3 gfifal & s B,
7 il #1 eI 4 HAEE! 3R 5 Hergdl
1 9o 2 I & SR | 4 7 51 1 qed
T X IS Toh W AT g 20 %. B

(A) %.100

(B) %. 16

(C) %15

(D) %.25

U T A9 a9 urdt & fore dan g gdu
# T &) oEan @ fam ueit ufd & efe w
B dea fama & fore S i 9 90°
10T A & forem o ut Y g Y
foem o i ufey forwdia feen & epran 2 | adw
7 @ TgEr o1e TH-gm & ane
Rafawng ?

(A) M -id

(B) TU-HY

(C) AWHA-ur

(D) TAwifea = foren < wemen
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Teh foTwe shl &THaT 12 SA%h! AT 20 Tt
F R 15 w9l & Qe o s =g
T ?

(A) 4

(B) 5

C) 3

(D) 9

1T SR AT AT el BT R & | 311
A Q1 o7ent ht T forEeR Tel @ IIgHH
AT B! BT | 311 A I8 ot waha fea fop
T 3 7R & oG A A R
3= g fordt e T ot ?

(A) 36

(B) 24

(C) 12

(D) 48

T e Ug W 9 @I ¢ | T8 W=E: 10
Fen i T2l Il 2 | 9 gl faww 9 W
qgadt & ag st i smefi s AT ® 1 ARk
38 12.00 1 IR H € o At o7
fe= 11.00 a.m. % T€ foraet gL =t ?
(A) 175

(B) 285

(C) 295

(D) 185

TF FIg H 200 ST B | 96 B,
90 fsFahe 3R 104 SHETA @A & | 30 iR
3R forohe @ 8, 36 B! 3 sgaTd
42 forehe 3R JuaTa @ed § | TS W
¥ F1 UF T Gt & | 34 Raenfeat H

e S gt il O Ted @
(A) 6 (B) 18
(C) 54 (D) 36
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ili) Arithmetical and Numerical Ability

If A and B are the HCF and LCM
respectively of two algebraic expressions
xandyand A + B=x+Yy, thenthe value
of A3+ B3is
(A) x3-y?
) y3

A certain amount was to be
distributed among A, B and C in the
ratio 3 : 4 : 5 respectively, but was
erroneously distributed in the ratio
9:4:7 respectively. As a result of this B

got Rs. 60 less. What is the amount ?
(A) Rs. 480 (B) Rs. 460
(C) Rs. 450 (D) Rs. 440

(B) x3
(D) x3+y3

The average of nine consecutive odd
numbers is 53. The least odd number is
(A) 22 (B) 27
(C) 35 (D) 45

At a college entrance examination
each candidate is admitted or rejected
according to whether he has passed or
failed the test of the candidates who are
really capable, 80% pass the tests and
of the incapable, 25% pass the tests.
Given that 40% of the candidates are
really capable, then the proportion of
capable college students is about

(A) 73% (B) 70%
(C) 68% (D) 35%

An article when sold for Rs. 200 fetches
25 percent profit. What would be the
percentage profit/loss if 6 such articles
are sold for Rs. 1,056 ?

(A) 10% loss (B) 10% profit

(C) 5% loss (D) 5% profit

106.

107.

108.

109.

-26-

A trades man gives 4% discount on the
marked price and gives 1 article free for
buying every 15 articles and thus gains
35%. The marked price is increased
above the cost price by

(A) 40%

(B) 39%

(C) 50%

(D) 20%

if Rs. 12,000 is divided into two parts
such that the simple interest on the first
part for 3 years at 12% p.a. is equal to
the simple interest on the second part
for 4Y. years at 16% p.a., the greater
part is

(A) Rs. 6,000

(B) Rs. 8,000

(C) Rs. 7,500

(D) Rs. 9,000

If Rs. 1,200 amounts to Rs. 1,323 in
2 years at compound interest, then what
will be the amount of Rs. 1,600 in three
years at compound interest at the same
rate percent ?

(A) Rs. 1,850

(B) Rs. 1,852.20

(C) Rs.1,752.20

(D) Rs. 1905.50

If 12 men or 24 boys can do a work in
66 days, the number of days in which
15 men and 6 boys can do it is

(A) 44
(B) 33
(C) 55
(D) 66
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iii) SO Ue TR drr

If A 3R B 3 dfiemifirdig stfvrsafaaal
X 9 y % FUWM: HEY AN @@y § o

A+B=x+y, A A3+ B3FHI O
(A) x3-y3 (B) x3
(C) y3 (D) x3+y3

THUN A BIRCAFIM: 3:4:5%
IFguTa | 1 St ft g gReaw 9: 40 7
o AT H sl ¢ | gk aftomm ey B
H60% A e & | TRT a2

(A) . 480 (B) %. 460

(C) %. 450 (D) %. 440

T wivw o gemett @ oo 53 2 |
Tl DI fom g @

(A) 22 (B) 27

(C) 35 (D) 45

HicTSt ol JaeT Ther o el ) 3g S
W Wfaee a1 sreftra foran @ 6 3w
redfae €9 & gem it areft ot
Jeftol A ool <Y} 1 809% Wt Il
Fd § 3 e § § 25%  udren efiol
A 2 | T T R 6 40%  srvreff amend
[ &, o Waw A forniat s srgara

[SHRE S
(A) 73% (B) 70%
(C) 68% (D) 35%

SIS Tk S 1 200 %. T 91 S & 9 25
Sifcrerel < 2§ | it et 6 g 1,056 %

oyl ST e /=T s @ B ?
(A) 10% &1 (B) 10% ¥
(C) 5% &I (D) 5% ™

106.

107.

108.

109.
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Ush ST 3iferd Hod W 4% G A1 R &
15 TEQE T e T 1 og g 3a1 @ 3t gy
TN 35% T AN FARI 8 | Afeha qo
ERR R TG AT | |
(A) 40%
(B) 39%
(C) 50%
(D) 20%

Ife %, 12,000 Y &) 9 § 39 FHR diz
<TTe fob werg T W 3 9 % forw 129 wfad
o foTq Tram saTer, gar st 3 f7T 16%
R T 4, 7 ¥g e s % weR
HESE RS

(A) %. 6,000
(B) %. 8,000
(C) %.7,500
(D) %. 9,000

afe 7. 1,200 & TRT 2 ot F =wEwafy
SIS W AGH . 1,323 2 et & o 3t
R Yfowa W Thgfg s W i ) §
%. 1,600 oo Uiy anft ?

(A) ¥.1,850

(B) %.1,852.20

(C) ®.1,752.20

(D) ¥.1905.50

Ife 12 =afaa a1 24 T=F ™ &
66 faAi § =+ "eha € A1 15 =afa oik
6 TF 30 fopan oAt & s mat ?

(A) 44

(B) 33

(C) 55

(D) 66
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112.

113.

114,

A Shatabdi Express train, owing to a

defect in the engine, goes at .5_of its
8

proper speed and arrives at 6.49 p.m.
instead of 5.55 p.m. At what hour did it
start ?

(A) 4.15p.m.

(B) Data insufficient

(C) 4.35p.m.

(D) 4.25p.m.

Evaluate :

(A) 36
©C) &

5 * 2 is a three digit number with * as a
missing digit. If the number is divisible
by 6, the missing digit is

(D) None of these

(A) 3 (B) 6
(C) 7 (D) 2
Simplify : —1—1—+i3
2— 1-
3 4
1 7
A) 4— B) —
) 12 ®) 14
12
() — (D) None of these
49

What is the least number which when
divided by 8, 9, 12 and 15 leaves the
same remainder 1 in each case ?

(A) 179 (B) 181
(C) 359 (D) 361

115.

116.

117.

118.

119.
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fa+b:b+c:c+a=6:7:8and
a+b+¢=14, thenthe value of ¢ is
(A) 6

(B) 7
(C) 8
(D) 1

If 8% of x = 4% of y, then 20% of x is
(A) 10% of y

(B) 16% of y

(C) 80% ofy

(D) None of these

Of the three numbers, second is twice
the first and is also thrice the third. If the
average of the three numbers is 44, the
largest number is

(A) 24

(B) 36

(C) 72

(D) 108

A producer of tea blends two varieties
of tea from two tea gardens one costing
Rs. 18 per kg and another Rs. 20 per kg
in the ratio 5 : 3. If he sells the blended
variety at Rs. 21 per kg, then his gain
percent is
(A) 10

C) 19

(B) 12
(D) 22

A does half as much work as B and
C does half as much work as A and B
together. If C alone can finish the work
in 40 days, then together all will finish
the work in

(A) 13% days (B) 15days

(C) 20days (D) 30 days



110.

111.
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113.

114,

T YIATsdl waedd Wornel e 39 4
w%laﬁmwﬁfﬁg_aﬁnﬁﬁ

IAF 5.55 p.m. T I 6.49 p.m.
g 2 | % ford e e g oft ?

(A) 415p.m.  (B) 3ii%s W@
(C) 4.35p.m. (D) 4.25p.m.
367 _362 1 HH 10 W |

362
(A) 36 (B) %
©) Je (D) ¥ 8 I3 T
5 * 2 Ueh oA 37h! ohi g @ e « wh

< IF 2 | IR GBI 6 W I}, A g
IF B

(A) 3 (B) 6
C) 7 (D) 2
11
TEAR: | —+—
o1 438
3 4
1
(A) 45 B) —
12 !
(C) 29 (D) T & IS A&l

wIG AW TR T L ™A, 9, 12

AR 15 | T A W T T & H 9% 1
TR ?

(A) .179 (B) 181

(C) 359 (D) 361
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Jea+b:b+c:c+a=6:7:83N
a+b+c=14, @ cH AR

(A) 6

(B) 7

(C) 8

(D) 14

& X T 8% = y FT 4%, O x 1 20% &
(A) y &l 10%

(B) y o 16%

(C) y I 80%

(D) T8 & wIE T

7 sEeT # @ gEu ved H AT ok
e S o T R | AR e et
Iad 44 B, 9 geQ o< dEAT ®

(A) 24 (B) 36

(C) 72 (D) 108

e 91 3c1e 31 91 st oY & fomant
=t fireman @ fored & #1 gew 18 %, Wi
o ot g@d =81 20 %. wfd form @ 1 21
H 5: 3% I | frear € | Ak 7
fretae archt e &1 21 5. wfa e =
ST 8, A 3FeRT o JfdvE &

(A) 10 (B) 12

(C) 19 (D) 22

A, B S fort u e o1 3 e @ 3R
C, A 3R B 3w fireram fore o vt 1
T AT § | AR C RN 3° & H
40 &1 ® U o R B, At 3 Wt ww

1Y TR 1 T gHT
THFAE |

(A) 13%1%:{ (B) 15fH

(C) 20fH (D) 30feA
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A walks at 4 kmph and 4 hours after
his start, B cycles after him at 10 kmph.
How far from the start does B catch up
with A ?

(A) 16.7 km

(B) 18.6 km

(C) 21.5km

(D) 26.7 km

Prabhuram Sait is a famous money.

lender in Kolkata. For deserving people
he used to lend on simple interest basis
and recover the money from their salary
bank account by taking post dated
cheques from them. Once he lent a
certain sum of money at 16% per annum
simple interest for a period of 8 years.
Interest alone became Rs. 336 more
than the principal. What is the sum he
lent ?

(A) Rs.
(B) Rs.
(C) Rs.
(D) Rs.

1,800
1,200
1,600
1,000

Mr. Ananthakrishna lyer and Company
borrowed Rs. 70,000 from a co-operative
bank and it amounted to Rs. 75,712 in
two years. If the interest is compounded

annually, then find the rate of interest.
(A) 6%

(B) 4%

(C) 5%

D) 7%

10% of 7% of 1000 = 150.
(A) 150

(B) 1500

(C) 300

(D) 3000

124.

125.

126.

127.

128.
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10,15, — 45 LS
2
405
6
405
'8
405
4
270

8
Find the approximate value of

18.99 x 155.67 + 1345 + 34
(A) 3003
(B) 2993
(C) 3123
(D) 3223

(A)
(B)
(C)

(D)

3a+2b

i 3a-2b

=7

a 4
— == _th
b 3’ en

(A) -1
(B) 3
€) 5
(D) 6

If n is any positive integer, then

(34" - 43" js always divisible by
(A 7 (B) 17
(C) 112 (D) 145

Which of the following sets of fractions
is in ascending order ?

56 7 11
68913
11
13’

(A)

5
(C) 5’

COI\I
o B No))
>
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122.

123.

A 4 et gferera v =T 3Ty T @ oiR
492 9% B OISR W 10 frdt wfeerer
H Y I’ATE | AR | fret B, A
! Tehg AT ?
(A) 16.7 km
(B) 18.6 km
(C) 21.5km
(D) 26.7 km

TUH A5 IR 1 VTG FIEHA 2|
A AT ohY T8 LT SATS 9L 69T 5
I8 fafuforra == o 37 AaT @r |

U8 IS ]| T TR 36 16% Fidas
T AT TS W 8 N1 % 1w s u
3uR feun| Fae s € g @ 336 %.
U B T | 3T T IUW S 1S iRy
off 7

(A) . 1,800

(B) ¥.1,200

(C) ¥.1,600

(D) ¥.1,000

1. ITAFH SR I FHH 3 T HEh
J% ¥ %. 70,000 34T foTg M 3t e d 7
Y% . 75,7129 1| A SO TIshgfE ¥
Y a1fies &7 ¥ ufihford gon dl & ot
BIGERY
(A) 6%
(B) 4%
(C) 5%
(D) 7%

1000 % ?% &1 10% = 150.
(A) 150
1500

3000

124.

125.

126.

127.

128.
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10,15,112,E ?
2 4 7

405

405
4

270
8
18.99 x 155.67 + 1345 + 34 <l {1

e 1
(A) 3003
(B) 2993
(C) 3123
(D) 3223

4
3 1

3a+2b_
3a-2b

?

afe 8.
==

(A) -1
(B) 3
(C) 5
(D) 6

afe n T gATeHes Uit B 4, (340 — 43n)
RiCC] TR T By

(A) 7 (B) 17

(C) 112 (D) 145
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131.

132.

What fraction must be subtracted from

the sum of % and il to have an average

1
of —13 of all the three fractions ?

1
A 3

1
B) 3

1
€ 4
O %

The average of five consecutive
numbers is n. If the next two numbers

are also included, the average will
(A) Increase by 1

(B) Remain the same

(C) Increase by 1.4

(D) Increase by 2

The value of 5% x (125)°% is

(A) 5
(B) 5v5
(C) 5
(D) 2

If the price of a television set is increased
by 25%, then by what percentage should
the new price be reduced to bring the
price back to the original level ?

(A) 15%

(B) 20%

(C) 25%

(D) 30%

133.

134.

135.

136.
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The cost of a shirt after 15% discount is

Rs. 102. What was the cost of the shirt
before the discount ?

(A) Rs. 117
(B) Rs. 118
(C) Rs. 120
(D) Rs. 121

HCF of 3240, 3600 and a third number
is 36 and their LCM is 24 x 35 x 52 x 72.
The third number is

(A) 22x3°x72
(B) 22x53x72
(C) 28 x 3 x 72
(D) 25x5%x72

A man left ;of his property to his

daughter and the remaining to his sons
to be equally divided among them. If
the share of the each son be double of
that of the daughter, find the number of
sons.

(A) 2
(B) 3
(C) 6
(D) 4

If a x b=3a + 4b — ab, then the value of
(2x3+3x2)is

(A) 21
(B) 23
(C) 17
(D) 19
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129.

130.

131.

132.

?ﬁqﬁﬁﬁwaﬁaﬁ% mm%m%
aﬂt%%ﬁnﬁﬁaﬁ:—mﬁamm
=t ?

(A)

(B)

Hlas W= D=

(C)

1

6
99 shities GegTatl &1 3ifad n ¥ 9 srrefht
3 wETd ot afidfa o ot sl ) sfga
B
(A) 18>
(B) wHN
(C) 1.4
(D) 2@ q

(D)

5/ x (125)0% 1 e 3

(A) V5

(B) 5v5 ‘
(C) &

(D) 25

afe Tk e a2 1 qea 25% wqt feen
ST =14 W febr Sfersar srem wime %
e A SW AT A1 7

(A) 15%

(B) 20%

(C) 25%

(D) 30%

133.

134.

135.

136.
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15% B % A1E T HHIS F o §. 102
HEMRACEL EEI R i B
(A) %. 117
(B) %. 118
(C) & 120
(D) ®. 121

3240, 3600 37X Uk g &I T 7AY
36 B 3 IR 78T 24 x 35 x 52 x 72 %]
dred g R

(A) 22x35x 72

(B) 22x53x 72

(C) 23x35x72

(D) 25x55x 72

T Afad 7 1ot guftr & ;maa%s

T 7R ATEhI S R 319 I A SR wie
fean afe vk g ot e o A S R
@ A ht T Jrd w

(A) 2

B) 3

(C) 6

(D) 4

Idaxb=3a+4b—abW(2x3+3x2)

F U R
(A) 21
(B) 23
(C) 17
(D) 19
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137,

138.

139.

140.

900 kg of mortar consists of 45% sand,
144 kg of lime and the rest cement. What

percentage of cement is there in mortar ?
(A) 2

(B) 4
(C)
(D)

39
21

Three years ago, the average age of
a family of 5 members was 17 years.
A baby having born, the average age
of the family is the same today. The
present age of the baby is

(A) 1year
(B)
\®)
(D)

1 - years
2 years

4 years

A and B are the two alloys of gold and
copper prepared by mixing metals in
the ratio 7 : 2 and 7 : 11 respectively. If
equal quantities of the alloy are melted
to form a third alloy C, the ratio of gold
and copper in C will be

(A) 5:7
(B) 5:9
(C) 7:5
(D) 9:5

A can walk from his house to office
at 5 km/hr. and is late by 30 minutes.
However if he walks at 6 km/hr. he is
late by 5 minutes only. The distance of
his office from his house is

(A) 2.5km

(B) 3.6 km
(C) 5.5km
(D) 12.5 km

141.

MKG-XVI/GENDASS-II/T2/01

The perimeter of a ractangular field is
240 m. The ratio between the length and
breadth of the field is 8 : 7. Find the area
of the field.

(A) 3854 m2
(C) 3684 m2

(B) 3584 m?
(D) 3666 m2

(142 -146) : Each of the questions given below
consists of a question and three statements
numbered |, Il and 11 given below it. You have
to decide which of the statements are sufficient
to answer the question.

142.

143.
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How many students in the school are
getting merit cum need scholarship ?
Statements :

I. The school has seven hundred
students, out of which 10% belong
to below poverty line families.

Il. The number of students who got |
division is 140

I1l. Out of these Il divisions, 65%

belong to well to do families

Only l and il

Only | and {li

All the three

(
(B
(
(D) Only | and either Il and Il

gogz

Who among the candidates A, B, C, D
and E got the highest number of votes ?

Statements :

I. C got less votes than E but more
than B.

ll. E got more votes than A but less
than D.
fil. D got more votes than A and E.

(A) Onlylandll

(B) Only Il and Il

(C) Onlylandlil

(D) Only | and either |l or 1l
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137.

138.

139.

140.

Azl & 900 foh. o, & 45%q, 144 %%,
=1 IR T die j) mei § dite w
gfmTa Fa1 8 2

(A) 27

(B) 45

(€) 39

(D) 21

T qd 5 T & U afEn i sdea
HY 17 a9 off| TH ST o 9 F HRO
3frea g T +ft T ]| et Y adae
AGFTR ?

(A) 139

(B) 1%3&

(C) 2a¢
(D) 4 a9

A 3R B "M iR afe &t 3t firsregy £,
o engati & fasmor waen: 70 2 @ik
7 111 % g & ) afe At frsrenge
1 HHT W1 O e frsreng C s S
& foru frerers <t & & ¢ # @R o ala
1 ST BRI

(A) 5:7

(B)
(€)
(D)
A 379 TRE TR 5 T . wfe =12 o wwaw
Y T W 30 e RA v 1 R =% 6
foh.ofY. /1T <ht TR @ wIetan B, A 9 e
5 fire < TgEa 21 IR | 36h WA
LR

(A) 2.5km

(B) 3.6 km

(C) 5.5km

(D) 12.5km

5:9
7:5
9:5
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142.

143.
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Th AR T i afmmg 240 ARy
TS ST AT 1 IIUT 81 7 3| @A
PR

(A) 3854 m?
(C) 3684 m?

(B) 3584 m?
(D) 3666 m?

(142 - 146) : i< e T e 9 W& W 3R
T AT I, 1 3N 11 Y ST R | SR a AT &
o w9 o1 I 27 & fou -4 Fuw Tl R

forenera 4 foraa Tomneff Afte u= stawear
B I TR S 2
¥ :

. fermerrd 700 farneff &, foemi @ 10%
Tl T @ =% femeff €

. vom fefaem wrea sweae faenfefa
6 T 140 2|

111 2roft ret 9@ 65% o+t afEril @
T Bl

(A) haet | I I

(B) ohaet | 3 1

(C) wsft =

(D) haet | 3T AT 1| 3R N

I A, B, C, D 3 EH & g waifers
Tq i 2
hYUA

. Cl E ¥ %9 Wg B ¥ 1ftes ma
=)

Il E AQ it Wg D & %1 Hd
)

. D& AN E @ 3ftres 7a i |
(A) Fad | 3R 11

(B) wae It FR 1]

(C) ohaet | 3N

(D) ke | 3 A 1141 111
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144. The clock-tower is in which direction
from the bus stand ?
Statements :

145.

146.

(A)
(B)
(€)
(D)

If you look at the clock-tower from
the bus stand in early morning, the
sun would rise towards your left.

. The main hospital is 1 km to

the west of clock-tower and the
railway station 1 km to the north of
hospital.

The bus stand is 1 km to the east
of railway station.

Either | or Il and llI
Only Il and 1l
Only |

Either 1l or 1l

How far is Mr. Arora’s office from his
residence ?
Statements :

(A)

(B)
(C)
(D)

He usually takes 35 minutes in
reaching his office.

He never drives beyond
60 km/hour.

If he goes by the longer route he
takes 10 minutes more in reaching
his office.

Onily |

Oniy il

Oniy lli

Question can’t he answered

What is the actual age of your brother ?
Statements :

| was born in 1986.

My brother is four years older than
me.

. He is two years younger than my

eldest sister.
Only | (B) Onlyland Il
Only Il (D) Only it and il
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(147 - 150) : Each question given below is
followed by two statements.

Mark:

(A)

(B)

(C)

147.

148.

149.

150.

-36-

If statement | alone, but not statement Il
alone, is sufficient to answer the question.

If statement Il alone, but not statement |
alone, is sufficient to answer the question.

If the question can be answered with the
help of both the statements together, but
not with the help of either statements
alone.

If the question can not be answered
unless more information is provided.

What will be the remainder if x is divisible
by 17 ?
Statements :

l. xis exactly divisible by 5.

Il. xis exactly divisible by 85.
What is the difference between
pandq?
Statements :

l. pis70% of z.

il. qis 60% of z.

What is pq ?

Statements :
I. pis 25% more than q.
il. pis 25 more than q.

x and y are two numbers, what is X9
y
Statements :

3
I. Their average is 2 times y.

Il. Their difference is 4.
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144.

145.

146.

TR 99 We ¥ frg feamd 2 2
¥ :

. afg 319 I1d: 59 WE U Sl Wl eEd
&, ot gt ek =l 3feq gy
&I AT HITeR & ufvaq o
1 forrft T 2 3 e WM oA
& 3w 1 TRt B
lIl. 8T id RyA & @ § 1 ot

W
(A) Frar =il
(B) Fae Il 3 1|
(C) whad |
(D) ==

sft. I 1 HATRE A9 e w8

R ?

YA

l. 3% TR UgeA § wmr=a: 35 fire
uckd

Il. o 60 forfl/wer @ a1ftre e &t
AT § |

. If 3 e T 8 W1a & Y, I8 SRR
qgen | 10 fire sifres e 2 |

(A) Fad |

(B) FHae I

(C) waa Il

(D) WA & I A e <1 wewan B

T TS h FRefersh Y R 7
A ;
|, T 1986 # 5T |

Il TS gER 4 a9 TR |

I, WA TR TR TA AT T SR |
(A) FFd |

(B) haer | 3R I

(C) Had Il

(D) e |1 T I

-37-

MKG-XVI/GENDASS-II/T2/01

(147 - 150) : =9 Ru T ¥+ T4 & o A

HeH T

afRa =t

(A) TfE F | THeAT T I I o Tore yarfea 2
T FIA 1| ITHAT T I A o fore gt
TR

(B) AfE oM || 37haAT Y9 I 4 o e waie
8 9 YA | STHAT Y IR 34 % forg warted
TR

(C) s Y7 o1 I 3141 HYAT Y ATy Fa f
ST Gk @ Wy Tt sft e g ovehe e
T < ek |

(D) e I3 1 3T A« dh g &1 ST Hehal ST
ERIPER R RAR I

I3 x, 17 @ fawrsa 2, 9w =/ g ?
YA :

. x, 59 quid: fasrsa 81

. x, 85 ¥ qutd: fsaT==r B

p 3 qH =T W R 7
h Y :

l. p,z 70% Bl
Il. q, 2% 60% 2|

147.

148.

149. pq@eE ?

hdA :
l. p, q¥ 25% 3Tfer 2|
Il. p, q¥ 25 31ferk B

xIMyPa@d g | Xamg ?
y

150.

<

|. 3! 3frEa y ggun%n

Il. TAHT 3T 4 2 |
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iv) English Language and Comprehension

SISA AT SR Ay

(151 - 154) : Choose the correct alternative
given below to show close relation with the
words given :

151. Mendacity : Distruest : :
(A) Begging : Charity
(B) Truth : Falsehood
(C) Integrity : Confidence

(D) Stupidity : Failure

152. Serrated : Saw : :

(A) Mountain : Jagged
(B) Sharpness : Knife
(C) Dappled : Horse

(D) Pronged : Fork

153. Cogent : Convincing : :

(A) Nonchalant : Disturbed
(B) Banal : Unoriginal

(C) Cunning : Disingenuous

(D) Insular : Continental

154. Claptrap : Pithy : : Maxim :
(A) Sincere

(B) Simple

(C) Pretentious

(D) Thoughtless

(1 55 - 158) : Choose the word that is most
similar in meaning to the given word.

155. Recreancy
(A) Recuperation
(B) Bravery
(C) Cowardice
(D) Obstinate

156. Nebulous
(A) Tiny
(B) Vague
- (C) Insignificant
(D) Dead

157. Renegade
(A) Traitor

(C) Loyalist

(B) Heretic
(D) Fugitive

158. Traduce
(A) Trade

(C) Dance

(B) Defame
(D) Die

(159 - 161) : Rearrange the following four
sentences a, b, c and d in the proper sequence
to form a meaningful paragraph and mark the
correct sequence as your answer.

159. a. It also gives rise to a feeling of
animosity among the different
sections of society.

b. In a democratic system, frequent
use of power is never desirable, it
is on the part of government or the
people.

c. Therefore citizens should never
resort to violent ways and means
in democracy though they have the
right to appose the government.

d. ltdestroys the stability and security
in public life.

dbac
bdac
bdca
dachb

(A)
(B)
(C)
(D)
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161.

gowe=

(A)
(B)
(C)
(D)

Recovery was given inadequate
attention and consequently some
bank branches regularly incurred
heavy losses and their parent
bodies had to bale them out.

As a result, banks indulged in
extensive lending to borrowers who
had little or no potential to make
repayments.

To fulfil the social objectives
laid down by the masters of
nationalization, banks were asked to
lend to identified priority sectors.
1992-93 results showed that the loss
making branches of public sector
banks increased from 10,000 to
13,000 and the quantum of losses
showed at Rs. 3,369 crores.
cbad

dabc

cdba

bcad

Participation involves more than
the formal sharing of decisions.
Through anticipation, individuals or
organizations consider trends and
make plans, shielding institutions
from trauma of learning by shock.
Innovative learning involves both
anticipation and participation.

It is an attitude characterized
by cooperation, dialogue and
empathy.

bcad

abcd

dachb

cbad
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(162 — 164) : Fill in the blanks in the following
sentences with the most appropriate word from
among those given options.

162.

163.

164.

It is fascinating to note how many
travelers return from their gastronomic
tours of Europe with a of la

grande cuisine and a haunting hunger
for the simplicity of local dishes.

(A) memory
(B) suspicion
(C) surfeit

(D) . magnanimity

As the waves rose and the ship tossed,
many of the passengers felt

(A) lethargic
(B) subdued
(C) tremulous
(D) queasy

eye witness, the news reporter
gave a graphic description of how fire
broke out.

(A) Reporting
(B) Observing
(C) Seeing

(D) Examining

(165 — 168) : Each sentence in the question
has two blanks. Each blank indicates that
something has been omitted. Choose the
alternative that fits into the meaning of the
sentence as a whole. ¢

165.
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Alarge centreisa/an ___ .
(A) Civic, autarchy

(B) Transport, automobile

(C) Educational, indignity

(D) Shopping, emporium
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166. Into the limited space given to him,

a headline writer must compress the
of the news and he must do it

without ___
(A) synopsis, reservations
(B) gist, ambiguity
(C) magnitude, distortion
(D) totality, hedging

167. Why should a university
the values which are supposedly
basic to its functioning and give an
honorary doctorate to one who has not
distinguished himself in a/an
manner ?
(A) deflate, scholarly
(B) foretell, worldly
(C) abuse, doctrinaire
(D) debase, academic

168. In spite of all , in spite of penalties

for examinees when cheaters were
caught, there is evidence of the

of the rigid rules of external help on civil
service tests.

(A) threats, encompassment

(B) surveillance, vulnerability

(C) temptation, flouting

(D) precautions, circumvention

(169 - 172) : Give one word for each of the
following expressions choosing from those
given below.

169. The practice of referring to oneself in
the third person.
(A) Anaphora
(B) Hyponym
(C) lileism
(D) Chrestomathy

MKG-XVI/GENDASS-II/T2/01

170. Regard for others as a principle of action.
(A) Altruism |
(B) Philanthropy
(C) Nepotism
(D) Cynicism
171.  One who deserts his religion.
(A) Deserter
(B) Apostate
(C) Opportunist
(D) Turn coat

172. The order to stay in one's own bailiwick

means that a person should remain in
his own.

(A) Room
(B) District
(C) Country
(D) Bed

(173 and 174) : In the following questions,
each sentence has an underlined word or
phrase followed by four alternatives. Choose
the one that best keeps the meaning of the
underlined word or phrase.

173. Although buses are scheduled to depart
at a certain hour, they are often late.

(A) listed

(B) requested
(C)
(D)

obligated
loaded

-40-



MKG-XVI/GENDASS-II/T2/01

174. The performance of our players was
rather worst than | had expected.

178. The criminal as well as his accomplice
was arrested.

(A) bad as | had expected (A) were

(B) worse than | had expected (B) are being
(C) worse than expectation (C) have been
(D) worst than was expected (

D) no improvement

(175 - 178) : Choose the appropriate option
for the underlined word/phrase from the given
options.

(179 — 182) : Out of the four alternatives given
for the idioms/phrase, choose the one which
best expresses the meaning of the given idiom/

175. The climate of Delhi is some what like | Phrase.

Jaipur.

(A) Like Jaipur's 179. To carry all before one.

(B) As Jaipurs (A) finish quickly

(C) As Jaipur (B) make a promise

(D) No improvement (C) be free from danger

(D) be completely successful

176. Each of the students pay their tuition

fee at the beginning of the month. 180. To nail ones colours to the mast

(A) Student pay their (A) To understand the fact

(B) Students pays their (B) To refuse to surrender

(C) Students pays his/here (C) To mishandle something

(D) No improvement (D) To accept the proposal
177. |, your brother and you will be partners 181. To meet one’s waterloo.

in the business.

(A) 1, you and your brother A) To meet a strong adversary

(B) You, your brother and |
(C) You, | and your brother

(D) No improvement

(
(B) To die an ignoble death
(C) To meet one’s final defeat
(

D) To meet with humiliation
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182. To flog a dead horse.

(A)

(B)

(C)
(D)

To try to achieve an impossible
thing

To try to table work from a weak
horse

To beat a horse that is dead

To revive interest in a subject which
is out of date

(183 — 185) : Complete the following sentences.

183. If the present trend continues, the cost
of a good personal computer system

(A)

(B)
(C)

(D)

Even soon can be as low as
Rs. 15,000/-

Can soon be as low as Rs. 15,000/-

As low as even Rs. 15,000/- soon
can be

As low can soon be even
Rs. 15,000/-

184. The new draft legislation seeks to
ensure that some of the profits from the
commercialisation of biodiversity

(A)

(B)

(©)

(D)

Goes to the actual communities
who possess the local know how

Actually goes to the communities
that possess the know how locally

To the local communities that
possess the know how actually

Goes to the local communities that
actually possess the know how

MKG-XVI/GENDASS-II/T2/01

185. Arecently carried out mega analysis of
two decades of published research

(A) Suggests that there is no
association between coffee
drinking and coronary ailments

(B) Suggests for no association
between coffee drinking and
coronary ailments

(C) Any association between coffee
drinking and coronary ailments is
not suggests

(D) Shows that coffee drinking should
not be suggested to have an
association with coronary ailments

(186 — 188) : Choose the mis-spelt word.

186. (A) Transgresser
(B) Accommodate
(C) Perspicuous

(D) Assassin

187. (A) Abhorrent
(B) Privaricate
(C) Circuitous
(D) Finicky

188. (A) Quinine
(B) Zythepsary
(C) Incarcarate

(D) Convalesce

-42-



s
(189 and 190) : Choose the appropriate meaning
of the given word from the options provided.

189. Pluto mania

A) Mania for money

(

(B) Mania for war
(C) Mania for names
(

D) Craze or obsession for islands

190. Nephophobia

(A) Fear of knees
(B) Fear of fog
(C) Fear of clouds
(

D) Fear of rain

(191 — 195) : Read the following passage
carefully and answer the questions given
below it.

Alleviation of rural poverty has been one of the
primary objectives of planned development
in India. Ever since the inception of planning,
the policies and the programmes have been
designed and redesigned with this aim. The
problem of rural poverty was brought into a
sharper focus during the sixth plan. The seventh
plan too emphasized growth with social justice.
It was realised that a sustainable strategy of
poverty alleviation has to be based on increasing
the productive employment opportunities in the
process of growth itself. However, to the extent
the process of growth bypasses some sections
of population, it is necessary to formulate
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specific poverty alleviation programmes Tor
generation of a certain minimum level of income
for the rural poor. Rural development implies
both the economic betterment of people as
well as greater social transformation. Increased
participation of people in the rural development
process, decentralization of planning, better
enforcement of land reforms and greater access
to credit and inputs go a long way in prospects
for economic development improvements in
health, education, drinking water, energy supply,
sanitation and housing coupled with attitudinal
changes also facilitate their social development.
Rural poventy is in extricably linked with low rural
productivity and unemployment, including under
employment. Hence, it is imperative to improve
productivity and increase employment in rural
areas. Moreover more employment needs to
be generated at higher levels of productivity in
order to generate higher output. Employment at
miserably low levels of productivity and incomes
is already a problem of far greater magnitude
than unemployment as such. It is estimated that
in 1987-88 the rate of unemployment was only
3 percent and inclusive of the under employed,
it was around 5 percent. As per the currently
used methodology in the planning commission,
poverty for the same year was estimated to be
30 percent. This demonstrates that even though
a large proportion of the rural population was
working it was difficult for them to eke out a living
even at subsistence levels from it. It is true that
there has been a considerable decline in the
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incidence of rural poverty overtime. In terms of
absolute numbers of poor, the decline has been
much less. While this can be attributed to the
demographic factor, the fact remains that after
40 years of planned development about 200
million are still poor in rural India.

191.

192.

According to the passage, rural poverty
is associated with which of the following
one or more factors ?

1. Want of effectiveness of productive
efforts.

2. Dearth of employment
opportunities.

3. Better sanitation and housing
facilities.

Only 1
Only 2
Only 3
1 and 2 only

(A)
(B)
(C)
(D)

Which of the following statements is/are
true in the context of the passage ?

1. There has been a significant
increase in the number of the rural
poor.

2. Before the sixth plan, the policies
regarding alleviation of rural poverty
were almost non-existent.

3. Social change coupled with
financial upliftment is implied in
rural development.

(A) Only 1 (B) Only2
(C) Only3 (D) 1and2only

193.

194.

195.

-44-
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Under which of the following
circumstances is employment a greater
problem than unemployment ?

(A) There cannot be such

circumstances
(B) In rural areas where employment
opportunities are less
(C) In urban areas where sanitary
conditions are subnormal
(D)

In areas where magnitude of
unemployment is more serious

Which of the following is not mentioned
in the passage as an important factor
for rural development ?

(A) Better enforcement of land
reforms

Greater access of credit and
inputs

Transferring planning from central
to local authorities

Involvement of rural folk in the
development process

Which of the following necessitates
formulation of specific poverty alleviation
programmes ?

(A) Certain sections are not convered
in the process of growth

(B) The sharper focus given in the sixth
plan

(C) Extension of social justice to rural
areas

(D) To keep the rural population outside

the periphery of growth
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(196 —- 200) : Read the following passage
carefully and answer the questions given
below it.

One simple concept lies behind the formation
of the stars : gravitational instability. The
concept is not new. Newton first perceived it
late in the 171" Century. Imagine a uniform,
static cloud of gas in space. Imagine then
that the gas is some how disturbed, so that
one small spherical region becomes a little
denser than the gas around it so that the small
region’s gravitational field becomes slightly
stronger. It now attracts more matter to it and
its gravity increases further causing it to begin
to contract. As it contracts its density increases,
which increases its gravity even more, so that it
picks up even more matter and contracts even
further. The process continues until the small
region of gas finally forms a gravitationally
bound object.

196. The primary purpose of the passage is to
(A) Describe a static condition
(B) Support a theory considered
outmoded
Depict the successive stages of a
phenomenon
Demonstrate the evolution of the
meaning of a term

(C)

(D)

197. It can be referred from this passage

that the author views the information
contained within it as

(A) Lacking in elaboration

(B) Original and obscure

(C) Speculative and unprofitable
(D) Uncomplicated and traditional
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198. With which of the following words, can
you replace the word ‘uniform’ as giveh
in this passage ?

(A) Uniting
(B) Varying
(C) Gaseous
(D) Unvarying

199. What does the word ‘it’ stands for in the
passage ?

(A) Gravitational instability

(B) Cloud of gas

(C) Small spherical denser region

(D) Matter

200. The author provides information
that answers which of the following

questions ?

1. What causes the disturbances that
changes the cloud from its original
static condition ?

2. How does this small regions
increasing density affect its
gravitational field ?

3. What is the end result of the
gradually increasing concentration
of the small region of gas ?

A) 1only
2only

C) 2and 3only
1,2and 3
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Irfigaril < fore wewagul srgaer

This booklet contains 48 pages.

Please check all the pages of the Bookiet
carefully. In case of any defect, piease ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle A,
B, C or D by Blue/Black Ball-Point Pen against the
question concerned in the Answer-Sheet. (For
V.H. candidates corresponding circle will be
blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle should

be shaded completely without leaving any space.
The correct method of shading is given below.

Correct Method

1@

Wrong Method {Wrong Method
of 1o¥el [t Nele!

WronéMethod
O®O

The Candidate must mark his/her response
after careful consideration.

There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, Cor D. If you
blacken (@) more than one circle against any one
question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark in the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

‘A machine will read the coded information in the

OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheset.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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